SAP ABAP table UBC VW RADVAL {Generated Table for View}

UBC_TB_ACT

MANDT [CLNT (3)]

UBC_VW_RADVAL-CNT = UBC_TB_ACT-CNT _ - [ORG [CHAR (10)]

- -7 CNT [INTI1 (3)]

.- UBC_TB _ACTV

-7 MANDT [CLNT (3)]

-7 ORG [CHAR (10)]

.~ UBC VW _RADVAL-VAL = UBC_TB_ACTV—VAiL/ 0-.N | CNT[INT1 (3)]

VAL [CHAR (20)]

UBC_TB BIL

MANDT [CLNT (3)]

ORG [CHAR (10)]

BIL [CHAR (10)]

. UBC_TB_ORG

0..N "MANDT [CLNT (3)]

ORG [CHAR (10)]

UBC_TB_RA

MANDT [CLNT (3)]

0.N TORG [CHAR (10)]

BIL [CHAR (10)]

RA [CHAR (10)]




